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Questions 1 to 10 carry 1 mark each. Questions 11 to 15 carry 2 marks each.
For each question, four options are given. One of them is the correct answer.
Make your choice (1, 2, 3 or 4) and shade your answer on the Optical Answer
Sheet. (20 marks)

1 Round 76 523 to the nearest hundred.

(1) 76500
(2) 76000
(3) 77000
(4) 80000

2 In 89.78, which digit is in the tenths place?

O
(2) 7
(3 8

4) 9



-3 What is the length of the paper clip in the figure below?

2
cm
(y 1.1cm
(2) 22cm
(3) 26cm
(4) 4.8cm
4 “Which two lines in the square grid below are parallel to each other’?
B
A
. _ C
\\\
D
H /
~_ I
G i
o,
E
F

(1) ADandHE
(2) AHandDE
(3) BGandDE

(4) BGandCF



In the figure below, WPRT is a square. QWU and SWV are straight
lines. ZQWP =13° and £SWT =28°. Find ZUWV.

(1) 48°
(2) 49°
(3) 50°

4y 51°



In the figure below, VWXY is a rhombus. XYZ is a straight line and
ZVWY = 36°. Find LVYZ.

36°

(1) 144°
(2) 112°
(3) 108°

@) 72°



The figure below shows a cuboid.

Which one of the following is not a net of the cuboid?

(1)

(2)

3)




Kenneth had j pens at first. He gave away 9 pens and packed the
remaining pens into 5 packets. There were 6 pens in each packet.
How many pens did Kenneth have at first?

(1) 20
2) 21
(3) 30

) 30



9

The pie chart shows the amount of money Jessica spent on the
different items on her trip.

Shopping

The amount of money Jessica spent on the different items on her trip is
also represented by the bar graph below. The bar for the amount of
money spent on shopping has not been drawn.

1500

1000

Amount
spent (§)

500

T T 1

Hotel Food Airfare Shopping

How much did Jessica spend on shopping?

(1) $1400
(2) $1600
(3)  $1800
(4)  $3200

S



10

11

The diagram shows the door of a classroom. Which of the following
could be the height of the door? :

(1) 02m

2 2m @
(3) 2cm

(4) 2000 cm

Three points are drawn on a square grid below.

Eve is standing within the grid. She stands at a location north-west of
Xand northof Y. In what direction is Z from Eve?

(1)  South-east

(2) South-west

(3)  North-east

(4) North-west



12 Andy had 1600 white marbles and some black marbles at first. After

5 ‘
buying 1200 red marbles, 5 of his marbles were black marbles and red

marbles. What fraction of the marbles were red in the end?

ORI
@ 3
® 2
@ 3



i3 Beaker A and Beaker B contain some water as shown below. How
many more litres of water are there in Beaker A than Beaker B?

Beaker A Beaker.B

(1) 210
2) 190
(3) 0.21
4) 0.19

10



14

15

‘ : 1 2

Mrs Raj baked some muifins. 1 of them were blueberry muffins, 5
were .

of them were chocolate muffins and the rest are strawberry muffins.

What was the ratio of the number of strawberry muffins to the number of

blueberry muffins to the number of chocolate muffins?

(1) 1:2:7
(2) 2:5:3
(3) 4:5:20
4 7:5:8

- Jun Xiang uses 4 letters K, L, M and N to form a pattern. The first 25

letters are shown below. What letter is in the 338" position?

KLMMKLNKLMMKLNKLMMKLNKLMM .......

pst 25t
(1) N
2) M
3) L

11
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Questions 16 to 20 carry 1 mark each. Write your answers in the spaces
provided. For questions which require units, give your answers in the units
stated. (5 marks)

3
16 Jane had 32 stickers. She gave s of her stickers to her cousin. How

many stickers did she have left?

Ans.

17 Express 16 025 metres in kilometres.

Ans: km

18  Shade the least number of squares to form a symmetric figure with
line AB as the line of symmetry.




19 The solid below is made up of 1-cm cubes. Find the volume of the solid.

e

Ans: cm?

20 Govinder stacked 13 unit cubes and glued them together to form the
solid below.

Top View

NS

3

Front View ) " Side View

Draw the side view of the solid on the grid below.

e ° a o e e L) °
@ -3 ° @ © ° ) e
a e & ° e ° L] e
°® o LS Y ° [} L4 *
e [ r-3 @ a o ¢ C]
° e & @ - -3 L4 @




Questions 21 to 30 carry 2 marks each. Show your working clearly and write
your answers in the spaces provided. For questions which require units, give
your answers in the units stated. (20 marks)

21 List all the common factors of 12 and 42.

Ans:

22 Bala bought 3 pens and 2 files. The total cost of the 3 pens and 2 files
‘was $7.65.

(a) Bala gave the cashier $50 to buy the 3 pens and 2 files. How
much change did he receive?

Ans: $

(b) Chandra bought 9 such pens and 6 such files. How much did he
_pay?

Ans: $




5
23  Aminah arrived at a food centre at 17 05. She spent I h having

dinner there. Then, she spent twice the amount of fime travelling to a
cinema. What time did she reach the cinema? Give your answer

using the 24-hour clock.

Ans:

24  MrTan sold 40 cars in 2021. In 2022, he sold 50 cars. What was the
percentage increase in the number of cars he sold from 2021 to 20227

Ans: %




25  Xihuan used a calculator to divide a number by 7. She made a mistake
by pressing 4 instead of 7. She obtained the incorrect answer of 287.

What should the correct answer be?

Ans:

26 In the figure below, ABCD is a square. BGD and AGC are straight lines.
BF = FC = CE. What fraction of the figure is shaded? :

A B
i F
D E Cc

Ans:




27 Alihas 5 fof apple juice. He pours all the juice into cups.  The capacity
7
of each cup is o £. What is the least number of cups he uses for all
his juice?
Ans:
28 In the figure below, EFG is an isosceles triangle. DEG is a straight line

and EG =FG. «DEF=111°and ZHGE =63°. Find 2Zy.

D

E 111°

63°

Ans: °




29 In the figure below, ACDE is a parallelogram and BDE is a triangle.
/CAE = 75°, «BDC = 18° and BE = BD. Find ZAEB. .

B

75°

18°

Ans:

30 Mrs Tan had 4y boxes of tarts. Each box contained 15 tarts. She sold
2 boxes of tarts.  Given y = 8, how many tarts were left unsold?

Ans:

End of Paper
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Questions 1 to 5 carry 2 marks each. Show your working clearly and write
your answers in the spaces provided. For questions which require units, give
your answers in the units stated. ‘ (10 marks)

1 A lamp is 2 kg heavier than a vase. The total mass of 5 such lamps is
kkg. Express the mass of the vase in terms of k.

Ans: kg

2 The table shows how much a worker is paid each day.

15t hour $75
Every additional hour $40 .
For every 4 hours of completed work, an additional $10 will be paid.

Mr Morris was paid $325 for a day’s work. How many hours did he
work? '

Ans:

Q



3 X, Y and Z are 2-digit numbers. The average of X, Y and Z is 56. Xis
2 ,
=~ of Y. Find the smallest possible value of X.
Ans:
4 What is the price of the handphone after adding 8% GST?

K

Pr@ce before GST

2 s

‘\

Ans: §




5 In the figure below, ABCD is a square and CEFG is a rectangle.
/GCD =203°. Find £BCE.

A v B F

203°

Ans:




For questions 6 to 17, show your working clearly and write your answers in the
spaces provided. The number of marks available is shown in brackets [ ] at
the end of each question or part-question. ‘ (45 marks)

6

A parallelogram ABCD is drawn on a square grid inside a box.

(@)

(b)

(c)

o a e @
o L] L] -3 a ] -] © -} 9 e ] L}
-1 k- -1 © e L] e -] e o a a ]

By joining dots on the grid with straight lines, draw square ADEF.
Square ADEF must not overlap with parallelogram ABCD. 11

By joining dots on the grid with straight lines, draw trapezium CDGH
such that CD is twice as long as GH, GH is parallel to CD and
DG = GH. Trapezium CDGH must not overlap with parallelogram
ABCD. . 11

Find the ratio of the area of parallelogram ABCD to the area

‘of square ADEF to the area of trapezium CDGH. Express

your answer in its simplest form. [1]

Ans: (c)




At a bakery, Mrs Tan bought 9 chicken puffs and Mrs Lim bought 5 beef
puffs. They spent the same amount of money buying these puffs.
Each beef puff cost $1.20 more than each chicken puff. How much
money did Mrs Tan and Mrs Lim spend altogether?

Ans: ~ [3]




Janet, Samuel and Farhana used the same number of ice-cream sticks

3
to make some popsicles. Janet had Z of her ice-cream sticks leit.

1 7
Samuel had Z of his ice-cream sticks left. Farhana had 5 of her ice-

cream sticks left. They had a total of 1265 ice-cream sticks left. How

many ice-cream sticks did each of them use to make popsicles?

Ans: 13




A group of 5 girls booked a computer for 2 hours. They took tums to
work on the computer for their project. At any time, only 3 girls worked
on the computer. On average, how long did each- girl work on the
computer? Give your answer in hours and minutes.

Ans: [3]

10

At 08 00, Patrick and John travelled from Town A to Town B at constant
speeds. They ftravelled along the same route. Patrick travelled at
25 km/h faster than John. When Patrick reached the mid-point between
Town A and Town B, John was 30 km away from the mid-point. Atwhat
time did Patrick reach Town B?

Ans:  _ [3]




11 A 13-cm cubical container was filled with water to a height of 11 cm.

(a) Find the volume of water in the cubical container.

Ans: (@) (1]

(b) TankY was filled with some water at first as shown below. All the

water from the cubical container was poured into Tank Y. Inthe

5
end, Tank Y was ?ﬁlled with water. “Find the height of the water

in Tank Y at first.

28 cm

Ans: (b) {3l




12 Shu Xin had a rectangular block measuring 32 cm by 12 cm by 24 cm.
She painted all the faces of the block. Then, she cut the block into

2-cm cubes.

32 cm

(@) How many 2-cm cubes did Shu Xin cut from the block?

Ans:: (a) - 2]

(b) How many of these 2-cm cubes had none of the faces
painted?

Ans:  (b) (2]




13 Some children sold cards for a fund-raising event. Each small card was
sold at $5 and each big card was sold at $8. The table below shows

the number of cards sold by three of the children.

. Number of cards sold
Child Small Big
Janice 12 7
Deepa 7 9
ZiYing- 6 10

(a) Which of the three children in the table above collected the most
money? What was the amount of money collected?

Ans: (a) Child:

Amount. ___ [2]

(b) Bradley sold as many cards as Deepa but collected $15 less than
her. How many small cards did Bradiey sell?

(b) (2]

10



14

In class 6T, when only one girl stands up and the rest of the children are

1
sitting down, the number of boys sitting down is > the number of girls

sitting down. When only one boy stands up and the rest of the children
are sitting down, the ratio of the number of girls sitling down to the

number of boys sitting down is 9 : 4.

(a) What is the total number of children in class 617

Ans: (a) [2]

(b) After an equal number of girls and boys left the class for competition,
the ratio of the number of girls to the number of boys in the class
became 9 : 2. Find the total number of children who leit the class

for competition.

Ans: (b) [2]




15 EFGH is a square. FG = MG and EK = JK. FGL, EMG, EKL and
EHJ are straight lines. ZFEL is twice of ZFLE.

F G L
K
M
E H J
(a) Find ZFMG.
Ans: (a) 1]
(b) Find ZGEL.
77777 Ans: (b) [2]

(c) Find ZKJE.

Ans: (c) ‘ (1]

12



16 A company offered 150 laptops at a 20% discount during a 5-day sale.
The line graph shows the number of laptops left unsold at the end of each
day.

160 |
O

140 —
120
100 _—
Number of %

laptops left 80
unsold AN
60

40 S
20 =3 O

Day1 Day2 Day3 Day4 Day5s

(a) On which day was the most number of laptops sold?

Ans: (a) Day 1

(b) What percentage of the laptops were sold on the first 2 days?

(b) [1]

(c) During the sale, the discounted price of the laptop was $1288.
After the sale, the remaining laptops were sold at a discount of 50%
instead of 20%. What was the total amount of money collected
from selling all 150 laptops?

(c) [3]

13



17 The figure below is made up of a rectangle ABCD and a semicircle.
AEC is a straight line. The arc of the semicircle toughes' AB at point F.

DC = 16 cm and AF = FB.

Acs

16 cm

(Take m = 3.14)

(a) Find the area of the semicircle.

Ans: (a) | 2]

(b) Find the difference between Area X and Area Y.

Ans: (b) (3]

End of Paper

-
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3 What is the length of the paper clip in the figure below?

f@

H
NENREEN RN RREEN
N 1] 1
2 b3 4 4fs

cm

(1) 1icm
(2) 22cm
(3) 28cm
) 4..3 em

4 Which two lines in the square grid below are paralle! to each other?

B
" -
=7 p
i
H /
" —— /
€] \#
3
F

(1) ADandHE
(2) AHandDE
(3) BGandDE

(4) BGandCF

4.-9.6 202

()

NUIne -

Cletss @ b (.

Questions 1to 10 camry 1 mark each. Questions 11 to 15 carry 2 marks each.

For ea

ch question, four options are given.  One of them Is the correct answer.

Make your cholce (1, 2, 3 or 4) and shade your answer on the Optical Answer

Sheet.

(20 marks)

5

Round 78 523 to the nearest hundred.

+
(1) 76500 16 523 2 Tb 500
(2) 76000 )
(3 77000
()
(4) 80000

in 88.76, which digit is in the tenths place?
=

1) s
@ 7

{2
(3 8 )
4 9

In the figure below, WPRT Is a square. QWU and SWV are straight
lines. ZQWP =13° and £SWT =28°. Find ZUWV.

@) a8 (
@ 40 P°-28° -3 "
(3) s0° = 0o °

4 510 - o

‘ = 44

()

y



6

in the figure balow, VWXY is a thombus. XYZ is a straight line and

ANYY =35 Find /VYZ

W

<)

36°436 =T2°

(1) 144
@ 1z 8’ -12" = 10§
(3 108
@ 72

(3

Kenneth had j pens at first. He gave away 9 pens and packed the
remalning pens Into 5 packets, There were 8 pens in each packet.
How many pens did Kenneth have at first?

m 2 5%6 30
3) - 21

2) 3944 239
@y 30 e
4 39

(4)

Tha figure below shows a cuboid.

Which one of the following is not a net of the cuboid?

M

@

(3} —]
()

The pie chart shows the amount of money Jessica spent on the
different items on her trip.

Shopping

wa-

The amount of money Jessica-spent on the different items on-her trip is
also represented by the bar graph befow. The bar for the amount of
money spent on shopping has not been drawn,

1500
1000 e
Amount
spent ($)
500 -
0 - ¥ T T y
Hotel Food Airfare  Shopping
500 80 500

How much did Jessica spend on shopping?

(1)  $1400°

Soox b = 3200
2) $1600
3700 — $30 — 500 -~ 500
(3) $1800
= 3200 -~ | §O0
4)  $3200 52
= |1¥c0 ( l_)



10 The diagram shows the door of a classrcom. Which of the following 12 Andy had 1600 white marbles and some black marbles at first. After

i t ? . 5 5
could be the height of the door? buying 1200 red marbles, 3 of his marbles were black marbles and red

marbles.  What fraction of the marbles were red In the end?

(1) 02m
1 5 .
@ 2m g ) M 3 }% -5 *c% - white
3) 2cm
(4)  2000cm 3 4 5 [to0
2 i q
3 > oo T4
11 Three points age‘dr»awpzn agc‘zdu_are grid below. X @ _3_ = 400
£ve 2 5 400%9
/. ¥ @ 2 4
v Wi 9 T 3400 —ddelal in dhe
- end
Z X
14 r) S
N . Y
S N X o
Q 1660~ 36
-~ i
D Y ()

(1)
2 So o‘ﬁ)
)
(3)  Ngrth-east ©
" 3
4 [N
~
o}
9
B3 &
br) 20

B contain some water as shown below. How

1 2
s b me muffing. - [t z
are there in Beaker A than Beaker B? Ra} baked some muffins. 3 ©of them were blueberry muffins, z

Q) of them were chocolate muffins and the rest are strawberry muffins.
\/ What was the ratio of the number of strawbenry muffins to the number of

blueberry muffins to the number of chocolate muffins?
-4 -2
{y t:2:7 &5
w0 _5 _ 8
(2) 2:5:3 33 "3 30
(3) 4:5:20 - 1
> = S}mmb@y
(4) 7:5:8
S:p:c
7.5:9 (W
Beaker A Beaker B ’
350 m 1bo mi 15 Jun Xiang uses 4 letters K, L, M and N to form a pattem. The first 25

letters are shown below. What letter is in the 338% position?

(1) 210 ! I !
KLMMKLN"KLMMKLN‘IKLMMKLNIKLMM .......

2 190 15! 25!}1
@ 350160 = Q0 ' : {
3) 0.21
@ o018 190 mt = 0192 m N $Bg =7 = 48R

2y M

(4) @ L

@ K (3)

AN
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48 The solid below is made up of 4-cm cubes.  Find the volume of the solid,

|43 +8 410
= 22 (ans)
Ans: 22 cr?

20  Govinder stacked 13 ufiit cubes and glued them together to form the

solld below.

P « Top View . .

. . . . . » .
. . . . - . .
. - . . . . .

)

Front View .+ . . ’Slde View

Draw the side view of the sofid on the grid below.

.k .
2

Questions 16 to 20 carry 1 mark each, Write your answers in the spaces
provided.  For griesiuns viale! g

Woreetire o te R D o Sk ot

stated. . (5 marks)

‘ 3
16  Jane had 32 stickers. She gave 5 of her stickers to her cousin,  How

many stickers did she have left?

3 2
- @
3R 3 . T2
SR S
= 30 {an)
Cpns 20

17  Express 16 025 metres in kilometres,

b 025 ~ {000 = lb- 025 (ans)

Ans: 16-025 m

48  Shade the least number of squares to form a symmetric figure with
line AB as the iine of symmelry.

Questions 21 to 30 carry 2 marks each  Show your working clearly and wrile
your answers in the spaces provided. For questions which require units, give
your answers In the units stated. {20 marks)

21 List alt the common factors of 12 and 42.

12 A2
03 42

wooha 3 and b

1 cost 6f the 3 pens and 2 files

Bald gave the cashier $50 to.

Jala gave - $50.10. buy: ind 2 files. How
much change did he receive? !

§50 — $71-55 =$42.35 (ans)

Ans: 54235

() Chandra bought 8 such pans and 6 sugh fles.  How mug
pay? .t

v : £1:65 ¥ 3 = §22-95 (an)

Ans: §_22-95




23  Aminah arived at a food centre at 17 05. She spent % h having
dinner there. Then, she spent twice the amount of time travelling to a
cinema. What time did she reach the cinema? Give your answer
using the 24-hour clock. ‘

h

m‘w
Oin

5
h=

25 min

2543 =15
I5-min = |h 15 min
. 1n L 1S min,
¥ ¥ t

17 o5 1$05 1820 (ans)

Arfs® @’.
~CNT S

o
24 Mr Tan sold 40 rs. %%‘&}. hglld 50 cars. What was the
percentage incr:;xx herumber of cam 336322

{20

= a5 o/a CCHU)

ol

28 in the figure below, EFG is an Isosceles triangle.

DEG is a straight line
and EG = FG. «DEF =111° and ZHGE = 63°.

Find £y.

9

360 °= 43 " 42

Yy
1(?00—“]. °z 6q° 23600—(050
LFEQ = JEFG = 255 ° Cans)
= 69
ZeeF = 190°-69°-69°  Ans 290 -
=190°-138°
o 6

~ xa

25  Xihuan used a calculator to divide a number by 7. She made a mistake
by pressing 4 instead of 7. She obtained the incomect answer of 287.
What should the correct answer be?

313‘7 287 X U= g

A&

W48 =T = 68 Cans)

_— A Ans: 16t

26 Inthe figure below, ABCDIs a square. BGD and AGC are straight lines.
BF = FC = CE. What fraction of the figure is shaded?

A B
| frea of GFCE —> 7 of Agur
E Area of AABE D E of Rgure
T hea o ARDE -3 m of Ayure

D E ft [o
!”—’ng——zjg —--[i:”_[‘{. (an}

Rl

Ans:

In the figure below, ACDE is a parallelogram and BDE is a triangle.
LCAE =757, £BDC = 18" and BE = BD. Find <AEB.

Z CDE = 15"
A LBDE = 15°-18°
::5.—1"
= spep

LAEB =1$0°- 1557

B Z 180 — 137
= 48° (ang
Ans 46’ °
30 Mrs Tan had 4y boxes of tarts.  Each box contained 15 tarts. She sold
2 boxes of tarts.  Given y = 8, how many tarts were left unsold?
‘ 448 =32
-
2. -
%15 32%15 = ngo
160 2X5=320
+320
48 0 480— 30z 450 ¢an)

End of Paper
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3 X, Y and Z are 2-digit numbers. The average of X, Y and Zis 56. Xis
g of Y. Find the smallest possible value of X.
w17 Aol 5b%35 (6§ — ol M NiZ
23 5 Yor % + be Smah ,Z has ¥ be big
1he - 99 F 69 = nor mubigle o 5
168 — 98 =10
Tor 54
vz 28 Ans 2.8
(ang)
4

What is the price of the handphone after adding 8% GST?

Price before GST

180k = $890
1% -5 3890 =too
= $8-90
10§°% —> ¥8 90 X108
<~ $96!1-20 (ans)
Ans: §__901-20

Questions 1 o 5 carry 2 marks each. Show your working clearly and write
wnur whewars in the snaces rrovided,  For quiestions whirh require units, glve.

BT st TR suate s, {10 marks)
1 Alamp is 2 kg heavier than a vase. The total mass of § such lamps is
kkg. Express the mass of the vase in terms of k.
K
Udamp =+

| vase %<5ﬁ —2)  cans)

Ans: (?K -2 2 kg

2 The table shows how much a worker is paid each day.

1%t hour . 1575
Every additional hour 840
For every 4 hours of completed work, an additional $10 will be paid.

Mr Moris was paid $325 for & day’s work, How many hours did he

work? . 154 hour

£325— $75= 4250
340 w3 + ¢ = $120
¥250 ~g130 = $120
B0 > §40353

A43="T (ans)

Ans: 7 h

5 In the figure below, ABCD is a square and CEFG Is a rectangle.
ZGCD =203°. Find £BCE.

A . B F

203°

LECD = 360°-303 "=9D
= 47"
LBCE = °-p1°

= 23° (ans)




For questions 6 to 17, show your working clearly and write your answers in the

7 Al a bakery, Mrs Tan bought 9 chicken puffs and Mrs Lim bought 5 beef
spaces provided. The number of marks available /S 'shown in brackets [ ] at puffs. They spent the same amount of money buying these puffs.
the end of each question or part-question. (45 marks) Each beef puff cost $1.20 mere than each chicken puff.  How much

money did Mrs Tan and Mrs Lim spend altogether?
6 A parallelogram ABCD is drawn on a square grid inside a box. sl.20 XS = $6
9-5=4
F¢ U7 $1.50 - ench chicken
$1-5049 * $I13-5D
£13-50 X2 = $27(ens)
check.*
7 $1.50% 3120 =g2-70
@ $2.70X 5 ¢ $13.50
0]
ABCD , ADER CDeH, ABD ! APER @ COGH o
Y A S txarts® 2t 20 12 K2 s
N ) 2.7‘15"‘?55 Axaxazy £ 5 ;2 (a) & ‘?D
2 X1z 12 R -
%1 3 5 N\(l;.ns: © 4:5:3
1O-HO =20

Samuel had —

l

e e 18]

A group of 5 girls booked a computer for 2 hours. They took tums to

work on the computer for their project. At any time, only 3 girls worked
on the computer. On average, how long did each girl work on the
\/ computer? Give your answer in hours and minutes.

. 2
! wren | girl worked on the computer —> ’%”’)
cream sticks left. TheY had a f 1265{ce cream sticks lef w 2 6
Zhe3 = 2
many ice-cream sticks did each em use tofmake pc 7{!& G
3 SREN
Janex used > - F .
=th umm  cans)
. = 4
=
= 12
Y|
Smuel  wed = =% Ans: lh 12 min 13
=32
T
= T% 10 At 08 00, Patrick and John travelled from Town A to Town B at constant
Farhana used [~ e speeds. They travelled along the same route. Patrick travelled at
9 25 km/h faster than John.  When Patrick reached the mid-point between
= Town A and Town B, John was 30 km away from the mid-point. At what
9 time did Patrick reach Town B?
=2 Patnick 2Stmjn fosier
4 ——
I Common mumiple o 43and 2 —7 12 F—tt —{
K 3oim 8
2= j— 08 o0 Time?
T - Parick
J
Lo ohn ‘ .
B When  paiick  reached 8, Hhn witl e 30¥%2 7 60
2. 42
49" behind -
A+-H+42 = 55 ;I box252 24
55 units =0265 2.4k = 2h 24 om
U unit = 1265 =53 )
= 23 Ans: 276 3] 2h 24 min Ans: 10 24 {3
12 unly = 23 X1) 0foq, 060 10 3% (ans)
= 270 (ans)

&




14 A 12-cm cubical container was filled with water to a heightof 11 em. 42  Shu Xin had a rectangular block measuring 32 cm by 12 cm by 24 cm.
T : - She nainted all the facns' of the Hlark  Then, shy o7 ™ Ploal i6lo”
2-cm cubes. : o

13cm
24 cm

(a) Find the volume of water in the cubical container.

b
; = 1p5q am? (and)
IEXILR S Ans:

(a) 1859 cm3

1

32cm

{b) Tank Y was filled with some water at first as shown below.  All the .
(a) How many 2-cm cubes did Shu Xin cut from the block?

wafer from the cubical contdiner was poured into Tank Y. In the

5 . EXRCP A
end, Tank Y was 7—ﬂned with water. Find the height of the water N ¢
[ ST =
In Tank Y at first,
2! =2 =2
16%6 X127 IL52 (ar)
Ans: (&) 1152 2
(b) How many of these 2-cm cubes had none of the faces
28 cm painted?
16-2 =1t
b-22 4
25 cm
. 12-> = 1o
2 og pas w22 7 1L 00O
oo — 1959 = 414l LExk X1 ° 5ho Cang)
a 41 * 25 222 = W63 cm (ans)
Ans:  (b) S60 {21

Ans: ) . lb-b2em 13

Some children sold cards for a fund-raising event. Each small card was 1
“gold H'$5 SRd e4EHT bl card was $6ld at $8. The table belaw shiws
the number of cards sold by three of the children.

13 In class BT, when only one gl stands up and the sest of ihe chiidren are

Ha

: 1
. sitting down, the number of boys sitting down Is 2 the number of giris

sitting down. When only one boy stands up and the rest of the children

. Number of cards sold
Child Smal 5 Bi $ 7
mall % g are sitting down, the ratic of the number of girls sitting down to the
Janice 12 7
Dee.pa 7 9 number of boys sitting down is 91 4.
ZiYing & 10 [ U U SIS T
(a) Whatls the total number of children in class 6T?
(a) Which of ttie three children in the table above coilected the most | girl slard, I poy stand,
money? What was the amount of money coliected? B: 6 okl . bt s iotal
Tanice - (2% §5) ¥ (7r$3) 12 3 A4:9 113
= sl ) i3:36 3% a1 39
Degpa > (1R¥5) + (ar$8)
> $107 ¥+ T 4o Cans)
zi ding = (s2§8) 4 (0¥ £8)
_ Ans: (a) Chid: ___Jante
= &0 Ans: (a) 40 @

Amount: _ 14 2

(b) After an equal number of girls and boys left the class for competition,
the ratio of the number of giris to the number of boys in the class
became 9 : 2. Find the total number of children who left the class

(b) Bradley sold as many cards as Deepa but collected $15 less than

her. How many small cards did Bradley seli?
for competition. . N
149 =16 Hiferen® remam
3 Jhe SR
$9-¢5=% A Birsts &,
R -~ n RN “.‘*‘.3 :.“.5._ - S P - - - o e memm n “éil"B"‘-“,W% 4..._.-...__6‘.}.3__},d;%€_.._ [
T+5 =212 (ans) 9713 q:2 71
PRI
check: 12% %S + 4x$8 1924 14
Y 21-18 =9
$q1+ $15 > $r07 q %2 =18 (ans)
(b 12 ) % P YT () N ¢ —




15 EFGH isasquare. FG =MG and EK = JK. FGL, EMG, EKL and
. EH.J are straight lines.  ZFEL is twice of ZFLE.

{a) Find ZFMG.
LEGm 7 45°

LFmg = l-4s ‘
2

o Ny
= 47
(b) Find £GEL. \
h é@ LFEG > 45"
. 2 aeL- 0o s ®

=185 ° Candd

(£ KET = G0°-40 °
= 30° (anp)

“LRTE Ans: (c) 30 4]

(Take rr =3.14)

(a) Find the area of the semicircle.
rodius = b+ 2
= g
Area = TEBILAEASE

100 - 4 8em* lans)
Ans: (a) o 4gem*” 21

(b) Find the difference between Area X and Area Y.
Xtz - z-Y =x-Y

Area  AARCD = 3':3(?&(6
= 4y
hea of quarer drde = T XIuk ROXE
= Lu.2iy
Area o boomerang AFD 7 S( §x&)— (50-24) = B+ Th
Ans: () ____502iem® )
R —13-76 = 502 ént(qnn

End of Paper

16 A company offered 150 laptops at a 20% discount during a 5-day sale.
The line graph shows the number of laptops left unsold at the end of each

day.
160
140
120
100
Number of
laptops left 80
unsold
A
40
20 =
[¢]
Day1 Day2 Day3 Day4 Day5s
L) 0 4D 20 20
(a) Onwhich day was the most number of laptops sold?

Ans: (a) Day__3 ]

Cs

What percentage of the laptops were sold on the first 2 days?
{50~40 =60

After the sale, the remaining laptops were sold at a discount of 50%
instead of 20%. What was the total amount of money collected
from selting alf 150 laptops?

éo 2
=S ® 4% @
=40 (ans)
@ (c) Ouring the sale, the discounted price of the laptop was $1288.
100% —0% =807
LQ B0 -3 ¢1288

1% > $1283 + &0

@ * $lelo
50% =) & 10 x50

* $805

150-20 = 130 © 3 sq0

28) + (0% $805) = $183 540 cans)

13

9
ENP
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